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P RYF NRYF ¢ x dR Q YT NRYF ¢ y
T, O (6 TRYF 1 62 20538 |

Px+Q o Px+Q
Cleta] @Bty
PQ P+Q
ot o%

Q Q
b RO TG 61 AW OB MRAT *F 3
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8.

8.

8.

8b.

8q.

8b.

¢o.

3 33
2 %,WGWWWMWIWGW

The average age of 12 children is 15 years. If
another child comes the average age comes
to 13. What is the age of the new child? (12
o fre oie @ 15 q=a | I awEn fre we
ST SR T T R 13 T | T a7
39?7) [1. 3. 3. (P55 wme) Y]
@ 11 years @ 7 years (D 9 years @) 5 yearsGED
The captain of Bangladesh Cricket Team is
26 years old and the wicket keeper is 4 years
older. If the ages of these two are excluded,
the average age of the remaining players is
one year less than the average age of the whole
team. What is the average age of the team?
(FrETCT WA SLAREA 097 26 I=F GR
TF> THE ©OF O 4 IAT 9| A oA
RRGLAE 999 AV (STl =8 OIRCA WiEd g 999 |
24 A IE | WL4 94 1@ I3 $97) [20d503)]
@ 21 @ 22 @ 23 ® 24
¥) None
8 V% TR F[WER G 27 ILF | U] T
O TG 20 T T PO T F07 [aoswron: B3,
(F5- 710 T SrviEon W) Byl
@ 47927 @ 4132 () 37929 @ 31927 @
orer @ 2 e [ 1T 37 =7 | e, Wrer 8
@ 2 T TR G 36 I | MO Tl T I&?
fa. 7. 9. . s ofoera 2]
@ 34 D 35 ® 36 =]

T 25 I3 T o 1 vo? Ro33a: 203303
@ 30927 @) 403=F () 4538 (& 357=A
® -
What is the value of x when the average of
23,4, 8 and x is exactly 5? (23,4, 8 ¥R x 99
NG 5 FE x 99 T $9?) b F. @ . (e ofwr) D)
@5 @6 G 8 ® 10
) None of these

A TRYF NG 150 IR FHSN FRYT F20F
TG 120 3289 RYIMT F©2 P2 () (97) Mg
@230 @210 @200 @ 190 o
X 8y & WCFF NG 10 GRz = 13, T, x, 5, 2z 99
ALY TG F© 3?7 (.8 P . () Yo
@ 11 @9 @) 18 ® 12 (=]

. The average of 6 numbers is 25. If 3 more

numbers, with an average of 22 are added to
these numbers, what will be_the average of
the combined 9 numbers? (6f FR4@ ¢ 25 |
AW 22 Mg S 3 AT @ FRIANEETE A &

77, Oq 96 TR T F9?) [roxses]
@24 @25 26 @28 =)
reT ¢ o7 e TR AT e Prer e fo

AR TER T 2.5 I QP | Prem = 50 3=

T Ao T 92 [203820]
45 = ®@ 40 727
&) 35 9=a ® 30 =4 (<]

@.

@A @S 25 T WEE FWeE e 10 I=F |
PreeTR OIvE FEE S 11 I27 T Freed 07
IS IRA? [ov0ta]
@ 26 @) 38 (-]

®@ 36 @ 48

@R.

@9.

@8.

ee.

QL.

2020 T I o % oo e 0.75 WL @
TR @6 3ES Fo? Roxea]
@ 21 fafa. @ 22 ff.

e 21.75 WAL ® 22.5 O f. (]
T :

2020 T cRFFIECS *1g e fee 0.75 ff
2020 - - s w = (29%075) -

=21.75 Rf.
[2020 @TZP leap year ©12 (FF3E IF1 29 fta)
The average mark obtained by 15 students
was 10 and the average mark obtained by 10
students was 15. What was the average mark
obtained by all students? (15 &9 2[0ad ¢ A1%
HF 10 @R 10 TF =CAT TS AT¥ 9 15 | ©OI=LT
4 BET A1 THET G FO?) [203%0]
10 @125 @15 (<]
FAYIS : 15 &9 e = 10

S 15”7=10x15=150
414, 10 G99 51e «949 = 15
10 2 7 N=15x10=150
SOFRRE = 15 + 10 = 25 S0 6
=150 + 150 =300
s s wE T =30 - 12
1996 T CFFA W A JBAATSR 7 0.5 GIf. |
Q@ CR G5 sffere Fo7 [203839; 20383)]
@ 155G @ 15.4 i
@ 15.95 G ® 16.55 @i, (1]
FE : 1996 TG LT |
. 1996 e gt W G 29 et fe |
. GG 3fBeTsa AfF = (0.55 x 29) GLfL
=15.95 GIf.

e sy
G35 FIFE Famd IS Ae @16 Tw @TF 100

I TR T RAAE &l TWEE TG 50 (AT 48
T ST | @ FIT (15 B TRAT F7
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@40 @S0 @55 @60
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@q.

b

@>.

2000 AR FFUE ACE FWAE TS
0.55 G | @ R e I©?
fr. % W, 5. 5. (owdn wmegns/ Swem ww ¢ Off wied) el

TegHe) e

@ 15.5 Gf¥ @ 15.4 GLA.

@) 15.95 Gif. ® 15.55 @if. 1]
2000 T EFR O™ e Je-iTed 16 e
0.65 G1. | @ T @B TS [onodl
@ 182 Fif. @ 19.5 G,

@) 18.85 @i ® 20 G

(® @A 78 ()
3 B TR TG 35 T | O R S 997 howee|
@ 105 9= @ 107 T2

@) 108 9=a @) @S 7 (=]

Yo.

Y.

o7 g 9@ WTT I T € T IF INE
e 1216 ¢ 9% #f6 &1 | onr 7w #fow wfimre
35 Bt e | 3% € 37 3F FB7 T I/W TS BT
AI? [2030u8]
20 B1eT ¢ 15 51T @) 30 51T 8 5 B

@) 25 5T € 10 5T (@) @02 79 (]
A : TG F0 (12+9) =21

. ATOIE WEE F40d (21 = 3) = 7%

U ST IF € W IF (12-7)=5F @& (9-7)
= 2f> #fba 3#15 I/9m BT A |

8, =
SN AN S x 5 =25 5190
GRT" "2x5=105=T

. 3% R S FRA™ @R 230 =, OF O

76 TRYE G F©?

@ 565 (@) 58 @) 585 ® 59
I : 4, @2 R x

MO, x+ (x+ 1)+ (x+2)+ (x+3)=230
=>4x+6=230=>4x=224 ". x=56

:Zx:5:2x526+5:%:58.5
100 & Fredfg ARPRYUTA 7% F9 70 | G
T 60 & AT G T 75 e, WA G T4
foa e T e; 20309% 203909

Roxw]

To?
@555 @605

@ 655 @625 @
I = 100 T q AR 1% 7%a 70
- 100 » GG 7% (70 x 100)
=7000
60 T T@F 5 7w 75

S60TF " @B " (75 x 60) =4500
(100 - 60) a7 40 T T7E7 G677 (7000 — 4500) 3 2500

40T “WW%:&"&S

Lo,

L8,

ve.

LY,

vA.

11 &9 (37 1% @& 70 @) 90 @ eom
T (I 5T (1T, AR G G F© A2 oz
68 @ 72 @) 80 ® 62 =]
FAY : 90 (FE GGG FE BT A
(11 =1)= 10 T & 41PF IR OIa T4 G
_11x70-90 770-90
- 10 - 10
e 3
95 TRAK AT 12 | 97 TG LT ASH FRAF TG
10 | 3 56 AT NG FO?  [7.7.5.7. (Fr ) N
@17 @18 @19 ® 20
® il o
11 &9 IFLFF TG G5 50 & | 40 @ goaa
GG IEF B (0T AT G 6o TS TA?
. 5. 5. %, %. (S e Y4l
@ 50 @& @ 49 @& () 51 3 ® 60
® Bl (1]
100 &= Fredig ST W 90, IW WG 75 T
el e T 951 )R Fredive e T
FO? [2o3td0]
@ 75 ® 70 @ 80 ® 65 (=]
The average weight of a group of 11 persons
is 75 kg. If one person weighting 85 kg leaves
the group, what will be the average weight of that
group. (11 & Ta9 ¢ €&« 75 kg | 85 kg
GGG GFE B (S AR TG GG F9?)
. 3. . 7. (et o) sl
@74kg @ 75kg @ 76kg (9 84 kg
(® None of these
P IR, 7 FeT RO T

=68

VY. 6 YT 4T 8.5 | 93T WAT IV e T T

Us.

qo.

N 7.2 T | IV R TR T©2  [r03080: 203303
@7 @ 15 @10 @12 (<]
AL : 65 FAE T4 = 6 x 8.5 =51

5 W@ B =5 x 7.2 =36

. TR =15

8 Y 1T § | arerFfs 4T @S 2 Rrart T3 TgH
TRYTETR TG F© A2 [203380]
@ 4 OF M6 ® 7 (]
Y : 8 TR T § T, A B = 8 x §= 64
ST IRYT (AF 2 AT T 7o IRANEEA
B = 64— (8x2)=64—16=48
.-.Wﬂwﬂmw:'%:s
107 SRYE @I 462 | AT 46 YR G 52

@R (18 55 IR 1T 38 | “feew RYIG FO?
BT R ad0-BY; 20333%; 03bok: dovood; 1 T, R (7l ) )

2T, 105 FRAE @I 462, GTF AW 45 T
52 @ 19 55 1@ 38, Sth AT F©2

® 62

)

@ 50 @ 60 G 64 1]
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R.

qo.

q8.

q¢.

qu.

Q4.

qv.

®.

FA : 49N 4 5 A2y @i = 4 x 52 = 208
ems® 2 » =5x38=190

i
.9 ooRW™ @ =398
. SAME T OUT ¢ ¥ 1B
=10 5 2y @ — 9 5 @ @rrEe
=462 - 398 = 64

. o ¢ RS FRY™ 7T 40 | 2R, {Sw ¢ gy

TRYT TG 50 T O FRYIG T2 Rovese]
@ 60 @70 MH @ @z @
A : 297 & TGS HAe 5% = 40

2T @ GO A 6 = (40 x 2) = 80
2, Sy & o TR *TG = 50
e, fGSi @ PO FRAE (5 = (50 x 3) = 150
. PO IR = 150 - 80 = 70
105 R Q@@ 380 | GTF &9 457 AT 40 @R
g 5757 1% 30 T ST F©7 #5417 (7 28]
@50 @60 @70 &80 ]
A = 105 725 @TsEEET 380
ST 45 TR @ (4 x 40) = 160

e@s5% " " (5x30)=150
. #1%Eew =21 = (380 — 160 — 150) = 70
e s

P 2R R NS T TR 82, 85 € 92 |
594 “AFR OF TS T (NS WA, @F OF A1Y

TGS TG 87 W?  [203800; AR (3wl 1) (37 9457 2ol
@88 @8 M2 (@89 <}

105 AU AP 600 | GvF 2R 457 T 55
R 0T 5 1T 65 | 57 A F©? Roseod]
@ 65 @ 60 @ 55 @ @ am @
9ft Y™ @M 530 | &AW 567 AT 56 GR
17 557 NG 62 T AT RAM F7  [ro2308]
@S0 @55 @60 (@65 o
3% R TG 17 R & 707 10 | PO RYGM 97 froray]
@ 15 @16 19 ® @wEHeE @
115 A @I 396 | ©TAT AT 66 A
TG 28.5 qR N 6/ AW AT 43.5 T, W
Ay Fo7 ol
®@ 35 @36 @39 @33 (=]
8 TR 3 W 65 (T GO G SAfRRTS g
GFE @ (TR OIAR 1Y G 2.5 (Il (0% TR |
o IT G TS Py .3, 5.5. (e oman) W
@ 45 @76 @ 80 ® 85
® 100 (<)
2 6 RS Y™ G 25 | R, S ¢ por
TRYF TG 30 T, O TRYI F07

(203033 4. 5. 4. (Free) (3) Mo
@ 90 @50 @

@25 @40
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bd.

bR.

ve.

bb.

bd.

0.

3.

aﬁmmwxy,mmmxmwﬁw o303
@y @+l '2”)

@ xQ2y — 1) ®x(y-2) ()
@I @RS 10 & Q0Ed G SHe! 5 F6 6 3 |

Y 9 T QO TG ST 5 P 5 &fke T 107
Qe Tl 57 [203302]

@5%57 e @ 6 %0 5 e
@ 6 35 3 2 ®6%0
® @AHE 7 (]

10/ SRy T 380 | @ eE 475 T 50
R 18 5157 G 32 | “fe YIS FS?
[, (4 el o1 i) B e/ Siehe) FieRe) ob)]

@ 10 @ 15 @) 20 @ @ADL 77 (1]
. 106 YT @I 422 | GWR e 4757 T 42
R CITET 557 T 38 | AT MY TS Lonsy]
@32 @48 @4 @64 O
. 105 U= @I 462 | G SR BEGT TT 50

R 19 AT AT 40 T, R R F©2

5.7, 5. (3473 3R ) o]
@ 65 64 (HS58 @ 62
(® AL 7 <]
115 Ay AT 30 | YT ABH RIF TT 25 8

1 4156 FRYE 1T 28 | T Y T2

7. . 5. 7. (fom s fomess /o) Y
@55 @58 @65 ®67 @
. 115 Ry @PIEET 561 | R 557 1T 46 TR
5157 o1 56 =T, T RYM Fo2 [203503]
@49 @50 @5l ® 52 o
. 136 Ry @ 462 | GwF Q49w 4757 T 32

GR = 557 1 38 = ot R F'©?
[Birtan (Accountant 2019)]
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159%9 (@) 17 9= () 20 9= () 22 9=4
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5. B RYW G 46 TR FRYNTTH 2T B FRYA

G 45 | e RYIG F©2
7. 7. 9. (e 3 35) s o1 3. (U1 4 =I57) ]

@ 48 @ 49 @ 50 @ FEREQ
59, foa6 Y™ 1T x | A oo 26 Y™ T y =
IR O 215 TR N 2 W, O TS =AM Fo2
.3, 7. =, (Smam e 14: 3. 3. 5. %8, 7. W, (3%59) M

@ 2y +2z-3x ®@3x-y-z
@) 2y -2z +3x @) (AL 7 (=]

8. 6, 8, 10 @7 ST Me; 7,9 TR @F RYA
ST NTTT T2 oo e S 20080 4, 7. . (457%)

(FF®) M
@5 @8 @ 6 ® 9 (=]

v I : W o, e e = x
NS, 6,8, 10 9T T =7, 9, x 99 T
6+8+10 7+9+x
3~ 3
=6+8+10=7+9+x
=24=16+x=>x=24-16

Sx=8
. 6, 8, 10 «7 ST 9T 7, 9 TR @F RIF
sifafes srea T2 [20394%; 203899]
@ 8 @5 @ 6 ® 10 (=)
AT : T i,
A = x
 6+8+10 7+9+x
= T
=24=16+x

mx=8
s, Rt @ @6 s wwsa Bt o ws ¢ifFew
RTAR TG AT 22 @R W G W A AT 17 |
56 T O 7T I T2 [20323]
® 20 @ 21 215 @22 (=)
v T : 3 1064 G =22 A
. 3 WI6d (TG = 22 x 3 = 66 9
2 TCHF 1% = 17 I
22 WA (6 = 17 x 2 = 34 A9

s sumpa g =00+34_100_ 54

5 5
PG 8 TNT PV GI@ 240 51T | IS TV
TR U WCTF 40 O I T FEE TV

84.

IO? e (e M) (38 4) 8]
@ 140 51 @ 100 Bt
@) 200 BT @ 160 BT (=)

v Y : W S,
TG T x BT
o @Ed T (x —40) Bl
*ACO, X + X — 40 =240 = 2x =280
sox=140
sb. qEw JoAUE 216 ACefT ¢ o AT

WYL 96 I FLE | OF JCSIAT FeAT F67
[203.9b0; 20399¢; 203808)

@15 @16 @14 @13 ©
v Y : W
FeTIad TRAT = x
. GO AreTIad AT = (21 — x)
AT,

4x + 6(21 — x) = 96 [@EsfTe 4 79 & €5 ATIE 6 7W]
= 4x+ 126 -6x =96 = 2x = 30
Xx=15
e 9
WG TR G x TR GO A6 TR G y | AW
A 56 AR 1T 2z T o7 P57 @G Adw?
7.7, 9. (7 e o e s Sl
@ 2x=y+z @2x=y+z
@ x =2y +2x @ @AHE 77 (= X<]
GFE JPA SR ¢ G g | At
wFiRE REErEy 7000 5T o e GRem
RermEy 3750 BT | 1S 0T 67 (@ AR semi
e a0z o= fomed G [ 30 4 o afs
T AT NG RETFT FO7 1.7, 9. . ([fe ) o)

5.

o0,

@ 4562.5 5= @ 4550 BT
@ 6600 BT @) 3745 o=t
® @TAbE 7@ ©

G B IRER 65 GR KT 80 T (FT | G
oE A2 T (T 9% fon REmw o e ¥ 75
A2 .. (01 o =57 Yol
@ 70 @ ERTQ

dod.

@80 @85

303, T AT TR @I 555 T, AW I
TR TS A2 203308
@118 @112 @IS ®113 @
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do8.

doe.

dob,

do4.
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dob.

o.

M.

M.

e REoIEd 10 2fRER A0 g 45.5: 11 =
BT T A I WG 2 Aq 2 e o
A 1T 50 =32 5. 2. %. (e aemmeaa) b; 203303
@559 @459 D 10099 @ 95 A
® @ADL 7 (=)
foem e @o 1% 53 f% | G T @' 51
e T | T ST D G YA [2od0e]
@ 53 @& @ 55 @&
@ 57 @& ® 59 & (]
597 @R ¥ @ N 14 TA, (F + 7) 9R
(¥ —9) 97 TC &2 [201935]
@23 @28
® @A 77 (=)
[, % ¢ wTqEE NG orwE 40° C R
TS, oF ¢ *fFRIE % S 41° C | *faEa
ST 42° C T JERNER ST 367 [xosvoc]
@38°C @39°C M4I°C ®42°C @
GG TRAT (RE 35 TR IV (AR T GG TG
14 (TF 11 T CFT | (T3 700 3R 3 e
e (i w3) M
@ 8 @ 11 @ 21 ® 25 =)
GFE FOTW & o6 T-20 e 82, 85 8
92 I FE | 5E (I FS A FAT OF G I
87 T3? [Rodtob]
@ 86 @87 @8 (@89 <)
e = felir euw 8 %7 FEF S TR
10 BT I GR RIS T oI 15 BT I
TGR A | e 10 1 e FAT 1T Tl

GD 46 ® 56

T TG o7 Roovas]
@ 11 5T ® 12 5
&) 12.50 BT ® 1351 (=]

b (AR T T T : &R T 10 5
RSRoa ¥ 5 5T R RIS AroHA T 3 5R |
9 & (I (TE g T R ot v (e @
T G T 3.6 BT | OF T35 T @ e
. 5. Fr. w0, (Swwm o) Yl

12 @ 14
@ 15 ® (AL 7 (]
If 5x + S5y = 50, what is the average of x and y?
frm. 3. . . (e <o) ]
@5 @10 @I5 ® 20

(® None of these (=]

No,

ne.

NY.

M.

Nh.

Ifb=9d-candd :2, what is the average
(arithmetic mean) of a, b, c and d? @ b=9d ¢
\ﬂ?‘{d:%@w:i.b.cmdﬂ?l%w.?)

4. 1. . ¢, 3. 7. (e i) M)

@ 2d @ 3d @D 4d @ None @

. If the average (arthmetic mean) of x and y is 60

and the average (arithmetic mean) of y and z

is 80. What is the value of (z —x)? (x € y «9 %

60 UR y € z 99 T 80 A (z — x) 99 W $97?)
4. ¢1. &, 2. . . (7l egie) M)

@70 @40 @H20 @None @
o7 WG TS o I AT W 55,000 BT |
uﬁcxumwm%mwwmm
wamwa!mgwwwm,mmm
S OF IR WA TG F© orl? [2o3038]
@ 69.300 FrT @ 59.300 BT

@D 39,600 ST ® 26,400 ST

® @S 7 =)

The average daily wages of female workers in
a factory is Tk. 30 and that of male workers
is Tk. 42. If the average wages of all the
workers is Tk. 37, what is the ratio of male
to female workers? (%% T|ad T2 «fwea
efefaca g @o7 30 T aR +FF Afiwsa 42
BT | 79 #faed T8 [@on 37 Bl & 4FE 8 Wi
HfSIF FRATT TS F9?) .71, . 5. (752 70%) Mo
@3:2 @4:3 @7:5 ®@None @
The average monthly income of P and Q is Tk. 5050
The average monthly income of Q and R is Tk. 6250
and the average monthly income of P and R is Tk.
5200 The monthly income of P is Tk. — (P, Q @9
R S 78 5050 51 | Q, R <& WP S 78 6250
51 @ R, P @ W@ S0 7% 5200 519 | P @@ T

R F9?) . 7. 3. 7.7, (3w 5fem) Y
4000 @ 3500 () 4050 (& 5000
(® None =)

If the average of the four numbers M, 2M +

3,3M -5 and 5M + 1 is 63, what is the value
of M2 (M, 2M + 3, 3M - 5 @& 5M + | €%

B TR TC 63 ZET, M OF T $97)  [roxsey]
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[ 40]
(55 | SIACT SIRSISNDAT k

o B 653, 19)= (1,3 1 2) W, W (59
2, 2 y =397 e (el ) (o8 ) o
0). X—-y=2pYdR px+qy=p +q T1,(x,y) = - 5 Y
AR NP WY SR , @24 @32 @0LS ®G1DH @
b Rosoes] | o apamgr = (6x -y, 13) = (1, 3x +2y)
@ (P-9.p+9 @D@-p.p+q Baogag e
@ (p+q,p-q) ® (p+4.9-p) (<) P o S
v W:x—y:?p“.".....(l) B [, 3x +2y =13
ARPX+QY =P +Q ... (i) L3x+2(6x-1) =13 [(I)TR CTF “1R]
(i) xq=qx-qy=2pq.. ... ... (iii) =3x+12x-2=13
(i) + (iil) = px +qx =p~ +q" + 2pq = 15x =15
=>x(p+q)=(p+q° nx=1
S X=p+q Ly=61-1=6-1=5
@)=>p+q-y=2p=>y=q-p s (x,y)=(L,5)
L (xy)=(p+q.9q-p) 0q. 2x=3y +5TF4x -6y ="? [203883; 2033%0]
oR. (x-y,3)=(0,x +2y) T (x,y) = FO? @20 @14 @ 12 ® 10 (<)
[00%% T 033 200v] | o A : 2x = 3y+5
@0LD @13 DEEL-D®@ 31D =2x—3y=5
v T (x -y, 3)=(0,x+2y) =2(2x-3y) =52 FEeomme2w@mers
Lx-y=0 =4x-6y=10
=X = Yo (i) = ob. x=2,y=4TA7x-3y="? [203390]
o= S, X +2Y =3 e (i) 7 @2 @4 @ 7 ® 1 (=]
2 (ii) R @ (i) R &9 T x = y IOTT 12, v EE:ix=2,y=4
z y+2y=3 33y:33y:§:1.'.y:1 f?'7l);73l)/:-;'273'4:]47|2:2
e o 3030
.g__- ()®ay= 130w, x=1 od. 7 4y+xy+8 2 Rovoeol
=] Ly =(1,1) @&=NC-y) G&=2F-4
E' X+y=4,x—y =2 (x,y) 9 T FO? (203803 8xy - 8xy
> @24 @42 @G @03 @ @E=HG-2) GEDE@-y) )
v T :ix+y=4.. .. ..() 8xy SXZ
i 11 1 1 —4y-2x+8+xy
. x-y . W:—.,l,—l+,l+]: 4y —2x + 8+ xy
(i) + (i) = 2x =6 . 2 4y xy 8 8xy
() =>3+y=4>y=1 _Xy-2x-4y+8
Lxy=G1 8xy
08. 3x—-y=3,5x +y=21%, (x,y) 99 M+ x(y=2)-4(y-2)
By i e 575 038 - 8xy
@ @25 @26 @G5 @G6 O x=4Hy-2)
v N : (EEl SR, = 8xy
3X=y=3 e (i) g B 1 1_ § Y Lp——
@GR Sx+y=21.......(ii) > 2x+2y_lwxz_y:_lzm’x y_W? sl
L T,
(AII.)ISE)DBJ\—A ®@ 4 O,_l‘ @6 @ 8 1]
(i)=3x-3=y ) 11
=>y=33-3=9-3=6 v 'Cﬁgma’wﬁ'2x+2y:l
(. y)=G.6) 111 1 L.t
0C. X+y=8,Xx-y=2TA,y WA IS? [wo30v¢] =2ty :13x+y:“
95 .05 S22 o4 @ oL b, @000,
v MEE:ix+y=8......() AR S CEEY AT
x—y=2......(i) 1 l)_ 1.1
(i) - (i) =2y=6 . y=3 S g AB
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.

R.

38.

v

.

v

1 - 1 =FO7[oze¢]
X ¥y

®8 ©

1
— =8,
v

@ 6

[203083]

X
. If (4x + 2y) =26 and 2x + 3y = 19, then x is —

fRo300v]

@5 (]

13 [2 @@ o 3]
...(0)

®7

€, 2x + 3y =19
=2x+3(13-2x) =19 (i) caw=]
=>2x+39-6x=19=>-4x+39=19
=4x=39-19=4x=20
aX=5
2x =3y + 5 T, 4x — Oy = Tl (7w %) (o7 %) o
@ 10 @ 15 @D 20 ® 12 (=]
AN : 2x =3y +5 =>2x -3y =5
= 4x -6y =10 [2 ¥ & ]

3x—Ty+10=0 Ry — 2x — 3 = 0 G TAF—
[ovea Rt 3y; 203900
@ x=1y=-1, @x=1,y=1
@x=—1ly=—1 @®&x=-1,y=1 (<]
YN :3x - Ty +10=0............... (i)™
y-2x-3=0.cccceueueen (i) T

{(1) R + (ii) & x 7} 7 AR,
=3x-Ty+ 10+ {7y—-14x-21}=0
=3x-Ty+10+7y-14x-21=0
=-1lx-11=0=>-11x=11

11

> x=—-—rx=-1

S,

v

.

.

v

(HRAx=—19F1R,3x-1)-Ty+10=0
=>-3-Ty+10=0=T7y=7..y=1
=g 14 : Option test :
Option (9) : x=-1,y=1
3x-7y+10=0

3x(-1)-(Tx1)+10=-3-7+10=0
y—-2x-3=0
1-2x-1)-3=1+2-3=
Option (9) F x=-1, y—1ma‘ﬁamwﬁam

X-Ty+5=0R2x-Jy+7=0TF xSy @
‘ﬂl’-‘(m [ro330]
11 32 34
? ‘\__ pot
C’Il 3 ® \ll
34 3
® -1 R @Wﬁiw (]
T : x -7y +5=0
R <l T PR () )
4, 2x -3y +7=0
=2(Ty-5)-3y+7=0 [()™ 2F|
=14y-10-3y+7=0
—10- =3
= 1ly=10 7:‘>)—I é
3 21 21-55 34 =
gL =—=
R T T i 1 S
-
b= 242) =
X+2y=7T @R 2x-Jy=0T",x € y @9 I E
7 Rozowo] IS
@2¢3 @3€2 M4e3 ®3¢4 QO &
T : x +2y =7 ... ... ... (i)
qR2x—-3y=0.......... (ii)
(i) x3+ (i) x2=>3x+6y=21
4x-6y=0
& Tx=21
=>x=3
(i):3+2y:7
y—2
«X=3,y=2

WW 12(x* + 1) = 25x (203809

®F @3 @4 @@ TR @
Y : (ASE SIiE,

12(x3+l):25x

= 12x* + 12 =25x

= 12x*-25x+12=0

= 12x" - 16x-9x+12=0

= 4x(3x—4)-33x—-4) =

= @x-3)(3x-4)=0

... 4

..x—4.3
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.

0.

Q€.

Y.

Q4.

RWr.

W.

L Y=X+IR 2K +y=9TA, y-HT T FO?

The solution of equations x —y=2and x +y
=4is: [roxseel
@ 3and 1 @ 4and 3

@) 5and 1 (® —1land-3 (=]
T : x -y =2... ... ...(1)

XEY =B e vononns (i1)
(H+@)=>2x=6=>x=3

() -G)=>-2y=-2=>x=1

Ans. (x,y)=(3, 1)

X+ y=12ORXx=3 T, x -y =FO? [0
@3 @1

@ -1 ® -3 o
AN : 2x +y =12 ... ... ... (D)

AR =35 (ii)

(i) =>2x3+y=12
>y=12-6..y=6
S X—y=3-6=-3

A x+ 5y =16 Rx =y W ORAy =F6? oresy]
@2 ®-2 ®@®-3 @3 ©
A : x =3y dR x + 5y =16
=3y+S5y=16=>8y=16..y=2

v s

L 2X+y=8dR3Ix -2y =5, x Sy H I FO?

43.707.7.5.3.9.3. (5550 (Traen, 959, i « i) B5%) Wl
@23 @25 D12 G2 O

X+ 2y =T ER 2x - 3y = 0 TF x IR y TF LI—

/. o oL/, 9. 9. (Sromed e (Ffes)) Se: w1
@/, A B9 /8. 1. 9. (e w5 Se; e @./E.
%/ @. fa . 4 /@/m) 1. (B wfd) el

@2e3 @382 482 @3¢3 @
[od800]

® 2 @5 @ 6 ® 8 o
x 2 x =3
-—;=1M-+—=3m.(x,y)=w

3 4
[#.3.7%.8.9.9. 9. 9.9, (T wwsn) M

@25 @43 D@6 ®62 O
(x—-y,4) =4, x+3y) T (x, y) 99 T9 2

2.3, o e Rerem W « fofif aded e weg®) Nl

@62 @®@G.1) &G D ®E0 @
(x+y,0) =(1,x-y) T (x, y)-9 T9 Ffr
FFA| [Rood08]

®wo @
2x +3y=19R 5x-2y+7=0

YW FO? [0 .7, (@ S/ o S (ATEO)) B3]
@0 @64 OCLD) ®@R-D@

2x+3y =36 9R2x +y = 16 T (x, y) & Iq F5?
.3, (% 57%) Yo 203008]

@ (2,100 @ (3, 10) @ (2.6) ® (3.5 @

29 o)) (i) e
RIS

L4+ y=T,2x-y=13TAx 8y WIFFG? [20%000]

@53 &@-53 @53 @®-5-3@

).

2x =3y R Ix -2y =5 (x,y) TJ :
[7. 7. (Fesr @ 7Pt 33

@64 @32 @@f) @@,1) o

OU2XYy +y=14 GRX=3TA 2y +x="7
[.7.7.7. (7@ #fre) oy
@5 @6 @7 ®8 ("]
VO, Ix -2y =8 R 2x + Sy == 1 T, x =FO?  [o0b08]
@2 @-1 @3 ® 8 (=]
08, X+ 2y =T AR2Xx =y T (X, y) TI—  [200%§
@21) @31 @12 @2

O¢. 5x—3y=9,3x-Sy=-1T"(x,y)="?

Y,

4.

b,

5.

8o.

. 1. 3. 7. (ST @ @ T S

@23 @2 &G ®G2 @

A FFF : ax —cy = 0; ay —ex=a’ — ¢
[Ro0%3; 300900]

@ x=c,y=a @ x=ay=c

® x=-c,y=a @ x=c,y=-a =)

TR + 5= 1,3+ =1 fro0t03]

(5ol o) ok e

[R03899; 203303]

®24 @-2 @8 ®2 O
Mix+y=4,x—-y=3T, T@x + 2y =FS?
[Rootro3]
1 1 1
@3 @3; @4 @4 O
X+y=7@Rx-y=3%,x 8y I I F?
[roe3]
®25 ®52 ®65 ®5,3 (<]

0 FRYT AT R [T G AP

8.

8.

726 RYT weF 12, I9BT WF 1 AN FAE
ofoa feedt =z | AT 4L fF 52 [203004]
@ 35,23 @20,8 @ 3518 2513 @
FATY : T I, TG TR = x

oL B R =x — 12
WS, x + 1 =2(x — 12)
=>x+1=2x-24=x=25
o &6 R 25 - 12=13
7RG YW @PEE 15 ok R{uee= 13, @

AT Fo2 . .91 (F) (97) b
@ 1 @ 2 & 4 @14 @
AL : 4, GF AT x

AT TRAT y

oS, U6 FRAE @, x +y = 15
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()R- () RFIME, x+y-—x+y=15-13
=2y=2
" y
y:E:]
y=1@{)RAFR, x+y=15
=>x+1=15=>x=15-1
x=14
=5 FAIS = 1
e ST
TR @ — 7o TRAE faee
Cﬂﬁ*“m:iﬁ .:iﬁ
_15-13 2
=g a1
so.iﬁm@mwmmlomww
FO? RRowey]
® 35 @ 40 @30 @ 55 (=]
v I : 4, 9T R
@R (R TR =y

e SR, APF =x +y =60 ........ (i)
a2 faamee = x —
a4, (i) € (i) ®
x+y=60

x-y=10
2x =170

88. 25 YT @M 75 G T THEGT 4 o |
A Fo?

[20x0ev]
@ 45 @ 50 @ 55 ® 60 (<]
v I : WA S, 96 TRAT x
*. S R 4x
L XF4X=T5 = 5%="1T75::x=15

LA MREANT 4 x 15 =60
e s
8¢. W26 YT @EF 10 REres 2 o @b

G Fo? . 7. 9, 7 2o
@8 @6 e 4 ®2 9
8Y. 26 K B 70 TR W 10 T, TG UM
FO? Rodooy: 203000|
@ 35 @40 @ 45 @50 @
210 IR ST TR @I/ AP Gl A

84, A6 AT @I 48 IR OHT &ITT 432 ST

Wﬂ{mw |a>§ﬁﬁ.ﬁ})l
@36 @37 @338 @40 ©
v I o, g RAGTx e y
TS, FRAT 7oA ST = 48
= xhy =48 i [OES
= xy =432 ..ccceee. (i) 7R

8b.

(i) RS AR, x +y=48

= (x +y)’ =48’ [&f =]

= (x—y)’ +4xy =48’

= (x—y)* + (4 x 432) = 2304

= (x—y)’ + 1728 =2304

= (x—y)’=2304- 1728

= (x—y)’ =576 = (24)

e W B s i (iii) 712

(i) /R + (iii) R
X+y+x-y=48+24

7_

=2X=T2=>x==

Six=36

(i) R @ x = 36 3P 1R,
Xx+y=48

=36+y=48

=y=48-36=12

wﬂmﬁm%

48”"64' 12 Optlonwﬁf a® 4 &

48=37+110 " gra 5% wayr @@
48=38+10(  zroma,

48=40+8
36 x 12 = 432 — *I$ A
37 x 11 =407 — =% N
38 x 10 = 380 — *I$ W7 7
40 x 8 = 320 — *[$ WA 7
IWa+b=2,ab=1 ST a gR b 9T T
[T — [ovew 5 VY; oS (a2 ) (7 671) '38: 20300%
20)909; 4. 4, . (st of=) N8

w
=
=]
=
<
<
R
-
=]
(=N
=
=
=)
=
%)
=
R

®02 @1,1, ®-1,3 @&@-3,-40
TEE:a+b=2...()R

ab=1 ... (1) R
(i) = ic_a)rb:?.

= (a+b)’ =2 [@f 53]

= (a—b)’+4ab=4

=@-b’+@x1)=4

=(a-b)"=0

R S ) P (iii)

[(1) 7R + (iii) R] FF /1%,
a+b+a-b=2+0=>2a=2

sa=1

()Raa=13TNE, 1+b=2
b=2-1=1
L b=1

&5 Y : Option lcst
(F)CS,a+b=0+2=2[a=0,b=2]

@8, ab=0x2=0%%, «b Za T
(@, a+b=1+1=2[a=1,b=1]

@, ab=1x 1= 1o, «f> 5% Sea =4 |
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8.

v

¢o.

@o.

@8.

ee.

QL.

@A.

v

X -y =2 R xy = 24 T, x-GF LGS NA(o-
[orew e 203¢)
@3 @4 @5 ®6 @
AR : x ~y =
=>x=2+y
DY =X = eiiasisiis (i) =R
oo, xy = 24
=x(x-2)=24
=>x’-2x=24
:xz—”x—’h'l 0
=X —6x+4x-24=0
:x(x—6)+4(x 6)=0
L(x=-6)(x+4)=0
F,x-6=0 4€q, x+4=0
Sx=0 Lx=-4
ToUq, x U9 499 I + 6
e 32
Hb MY &I 189 R FRAT FBF @F 30 |
TRYT 76 FO? N

[ot, o5, . (o o) 38 4. W, (e - e SEed)
BT e/ Ao ) ob]
@9¢e21 @7e23 () 8822 (¥ 22¢18@

. 6 TR @I 2250 IR SHEEA 9/10 | FRYT

wfoq e .73, (e g () Yo
@5 @ 6 @ 45 @50 @
. G5 YT wATT 40 wwgmmﬂmm
A 97 [xo3%09]
@22 @41 @13 @14 @
95 R (B 10 GR O ST 20 FRYT 407

&Iee RS TRA AT FO? [ 5.7, (P T7537) by

® ©®2 @4 O ©
2f6 IR @I 48 IR SR ST 432 | O
G R FS? 1. =1 . (et #@=) Y8l
@ 36 @ 37 @) 38 ® 40 @
AR FITIOTAa+b=T7 Rab=10TI? [200503]
@a=2;b=-5 @a=4;:b=-3

@Ma=-2;b=—-5 ®a=5b=2 (<]

X—y=2 dRxy =3 TA, X + y-H I F?
[R0330¢; T. 5. (s € 4PTaT) 3]

@4 @-4 (4 @16 @

x+y=7kﬂ§{xy:12m,x3+y3&ﬂ?mw

[203808; 20380¢]
@ 91 @ 81 @) 101 ® 85 (=]
T : x +y=TaR xy =12
Xy =(x+y) - 3xy(x+y)
=77 —3112.7=343 —252=91

¢b.

v

@». 2%

v

vo.

v

L.

216 FRATA 0 AT/ [T Gl AP

716 WA I B 13 R T {67 & 6
T YT 77 Tl wew Fo? s AR eTaa
(CoFT ) 34; 200903

@ 4 O @ 6 ®7 (<]
F : 47, R TG x € y
MO, x* +y = 139R xy =6

:>(x‘+y1):— 169 [?‘TW]
:>(xy—y1)3o4xy 169

[F=: (a+b)'—(a—b) + 4ab)
—Y)l+4(6)=169
-y), =169 - 144

wfamﬁ 181

90Wr YT 12 T2
@ 5,18 @ 10,9
A : A S, FRAT
x’+y‘_181
s‘N‘{xy 90 (u)
. (x+y)’=x +y + 2xy
=181 +2x90
=181+ 180
x+y:’19 . (iii)
alx=y=xtty =2xy
=181-180=1
x—y=1.. ......(iv)
(iii) + (iv) => 2x =20 .-
(iii) + (iv) => 2y = 18 .-
- R AG 10,9
X+y=3,xX+y =5T, X +y' =

.7, (Fre) (97) 28]
@ 34 @9 @D 45 ® 54 (-]
A : X+y= 3
X+y =5
(x+v) _x +y + 2xy
33‘—5+"xv

= (x
=X
:>(x

[P S

’T(#IT LCUER S

[203808]

2,45 ®6,15 @
X8y

x=10
y=9

:>xy:2
X +y :(x+y)'—3xy(x+y
=3'-323=27-18=9
L X+y=2,X+y =4I +v—W?

o8RG 205 0305 203330 P 7 % (Fr2) (37 By
@ 16 ® 25 (=)

:>(x+y) —7xy 4

= (2)* - 2xy =

=4 -4=2xy

;- Xy=0
Xty —(x+y) -3xy (x+y)

=2 -3x0x2=8
X +y =185, x - y = 3 <7 > AL 2:

[ouEa e 0y . 3. (e o) Y

T, X +y =185, x —y =3 WA x € y «F AW
IS? 0398]
®@ (7,4) ® (1.8 @

@ (9,6) & (10.7)
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176 0

=y +11y-8y-88=0
=Sy(y+11)-8(y+11)=0
=y-8y+11)=0
”i?fy 8=0
.y=8
(u)?"s.‘.lyzgw,
x-3+8=>x=11
@,y +11=0=>y=-11
(ii)ﬂ‘(ﬁy:fllaﬂ'li.:x:_’»——ll
x=-8
wmﬁ x,y)=(11,8),(-8,-11)

V0.2’ + b =25aRab= 12T Ta+b=FS  [ore0y]
FUT, X +y =25 IRy = 2TAx+y=?  [033]
@6 @7 @ 8 ®9 o

v A : x4y :ZSny 12
O G, (x + y) = X0+ y° + 2xy

=25+2.12 [@= 3FwE]
=25+24=49
Lx+y=7
e 3

8. 6 g FIE AT 6 R G 0 AT 108 1
mmqﬁa@mm— [Rod30¢]
@6 @I8 @24 ®12

ve. TRAW T B 8 T W 61 8 11
m,wﬁﬁﬁﬁr . 5191, (57) (9) 9]
@(7,6) @((7,4 12,1 ® 6,5 @

Lo, {6 EIgE RYF 07 WA 8, eF 3, AT
7foa qvfa e Fe? [xo3v08]
@8 @10 @ 13 ® 25 (]

V9, 2 -b' =8 Rab=3TTa +b" =FO? 54 (") (F) W
@10 @10 @ +11 ® 11 (-]

bb.

v

3x+2y=15 FRReF A T2 kodeos]

@ 9t @9ET @) ewHeTm@ T @

A : G2 55 (4118 A I FACS G0

A FAFAT QTG | A Y GO AR

WME | 2 x € y GF s T forefa avar 574 1 |
3x+2y=15=>2y=15-3x

=y =B, x=0,£1,2, 43, ...

i@lﬁﬂmw)raamﬂrmmwm|

Ly,

9o.

.

qo.

q8.

qe.

x+\3=27, x! T ve? Rovens]
1 1
@2+\3®@ @ 9z ©
3@ +\/_DZ~\/§ @3
YT : x+\/§:2
1
=2- -:
=X NS = \ﬁ
_L’:_x[__
\/'m \3)
:2:_( 3)3
94
i S RNE
nﬁa+b=\ﬁwb=a—\/3w,mab=
F9? [Ro3200)
@21 @2 @ 1 ® 24/10
FL : (ST AME, a + b =7 .......(0)
b—a—\l_
=a-b= \[— ........ (i)
+b)’ - W7
S —a b)’ (\f) (\/3
[ﬂwu)e(u)tz—waﬁw]
_I1=3_4_,
4 T4~
T x + 5y = 16 R x = 3y H, O y = FO?
nvuﬁﬁﬁmv 20399]
@-24 ®@®-2 @8 ®2 (<)
T 2 X =3Y e (i) =
x+5y=16
= 3y + 5y = 16 [x = 3y 307 “1R]
=8y=16 :y:%:l
fy=2
Xy=2aR xy’ =8 T x = [Rovgse]
v 1 1 1
@3 @4 ®2 @3 (]

W:xy:l»ﬂa‘()(yJ:S
= (xy)y=8=>2y=8

1
Ly=4..x4=2. .x=5

Fa+b+c=12,a+b=4,and a+c="7, what is the
value of a®?

[x0%008]
3

®2 @1 @33 ®2 (<]
Ify=5x+3and 5x +2=33 then,y="? F1.3.3.%0]
@36 @28 42 ®34 @
4x + 2y = 20 AP FOB AAYT ACL? [205009]
@ @3ioe = @ g 9F 6
@) w2 @ ST RIS (<)

w
=
=]
=
<
<
R
-
=]
(=N
=
=
=)
=
%)
=
R
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Q. S5xy +28x =2 =0 Ry=—4 T, d&x +y =
FO? L%, (R SRa i) o9
@3 @4 @ -3 ® 6 ()

99. a=2b =3c YR abc =36 T, ¢ G -

5.7 o1 (Fre) (97) Do T WL 3, (el sweaieian) o]

3
@VZ @2 @2 ® 2 (<]
b, a:2c,%:f—l<ﬂikd=3mb [soss]
®@5 O @ 3 ® 4 (<)
@, ax +hFITx=1TI1 R x=JTA 25 x=2
T G TN F9? . 8. 4. (Fre=) (%) S8l
@5 @10 @15 ®20 @
bo. &R 8 RSk AR e 35 R RS @ wI Ry
P 63 | Tl B F©2 o F o () (3) )
@5 @6 &7 ® 8 ()

Y. AW 2x+ y =10 IR x =3 T, O x —y =
Fo? [ 6 2.7, (7% =) oy]
@-4 @-1 ®O0 ®7 (<]
W a+b=\3Rb=a-23, ST

b
T F© 3?7 [2ed200]

.

3
®@-3 @3 @32£ ®-3\30
.vﬁx+2y:4mf:zm,mx:w
. ... (P () 9]
@0 @1 ®2 ® 3 ()

A x=y =22 R X.y.2 =256, S y = ?

[ & 2.3, (P75 5fTe) ok, 4.7, 7. 7. (e f5F) 'oy]
@2 @2 @42 ®8 @
A Xy =13 R x + 2y =5 T, S@ x 9 TF

IO? . %. 3. (g Afrm =) |
@3 @4 @S5 ® @A (<]
Y. My =5x+4 GR5x+8 =40, Sy ="
. & ef o = (3E57) Yl
@28 @36 @42 ® @rAne @ @
v4q. If (a—b) is 6 more than (¢ + d) and (a + b) is 3 less
than (c—d), then (a—c)is: [ (= 537 (59)) by
@ 0.5 @1
@) 1.5 (%) None of these (5]
bb. Ify=2.5x + 4 and 15x — 2 =40 then,y = ?
[R030t]
36 @ 28 @) 22 ® 11 (<]
bb. x+2y=4 ‘Rf:zm,x:w .3 (e o (7)) W
®: @3 @2 o1 o
0. x+2y =4 GRxy = 2 T, TE x =FO? 1. 4., (Fegpl «F) Sg]
0 @12 @1 ® 2 (<]
b).‘ﬂﬁ'y:sz—Zxéﬁtxziil'ﬂ,my:? Roxees|
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